EARAROBREBRT —5 XN—ZXBISH—F 202311858 (B) 16EER3H

M S>%—fix C16 \(9&1&1 P ‘I%EH?’JFQ] | 5 10m =
[AE%] 1%:420,00 3  27%&:134,000F  3#%:67,00H  4#&:50,000H" / 57#&:42,000 [
EERE BERS, I BE | BE (B |91L BE) | @aEh | L3F |58 | Aa | #E | 556 @R / BE / TERS
°~ W 3 % 3 SRR 1:31.0 1-1-1-1 38.9 - 1 464 | EMBEZ (&R
10 7| E¥7EyTA—L 54.0 < Gy |8 5792 Pu-—25v—k
Ri€r/0704 B:vzv By F R =i
o 8 TEERS :31. -4-4- . - 4 438 | DIEERDE (TR
25l5| ARALTLY R L i) R IR ke vy | N
RNIT4 B:IO—S)ik—L HADREEAOEERIS
~ ~ 4 5 SHIES 1:31.9 5-3-2-1 39.7 - 7 444 | BAREH (ER)
3 Y 3 NAVITHY 5.0 (1172 *2) Enlﬂﬁiéiﬁ
RYZRAI—ZZRI— B:I7ILFU— WA ek
e 57 R e 3. 66~ 3] - BEEZ @R
411 EYvTFXURY #3 | BT G| TP P 5 ek
RFAUAYRA Ny b BTIAYVETTU SENis
R v 4 | EEE 32, -11-9-9 | 38.7| - 47 | HE—t @R
sl7l g | xrvamnvv vy 4 | BB 1(/32; 10-11-9-9 | 38.7 5 palli=
R:T=LRI—-Z #B:LAVKR=UvFIL ==t
S ° . s 4 | BB 1:32.1 8-8-8-7 [39.0| — 8 128 | ™MEFE (&R
60 6|>aNILT 54.0 ©E) (a) | AREXT
R:vavrvhyrT B:AAY3av5SUIF QR BX
R . . PEI3LE 32, -7-7- 7| - EAZ (@R
7 ) 7,(_/2'-7[‘_'\ 4 4 54% 1(322)5 5-7-7-5 | 39.7 6 (‘?43) B
R:O—RAFOFP B:IA—VRYTI— —EBTr—L
SAK— - 9107 |39.2| - WEF— &R
N . MEXEOEPEY, 7 | B 1.(312).7 11-9-10-7 | 39.2 10 (4345) e
RIO—VRA YA B TUVERET 21— hEEIS
g 4t 5 [SFSIEIRZS 1:33.8 2-2-3-6 | 41.4 - 1" 411 FH—R (&R)
91810/ ¥A—0O 54.0 ©) Cn | EEE=
RINTYYL—Y B:TU—U—Lo Bs
3 N s 4 | PR 1:34.3 3-5-4-10 |41.7| — 2 46 | BEME ER)
10/8[11| ZLATRAZ b 5.0 @ 17) oa |FERK
R:TVAISVT7oh B: 04—y b~ HYUNIOIFTIT7—LA
- 4 7 | BREBKHE 1:34.9 9-10-11-11 | 41.1| - 9 464 | EBERZ (&R
17| 9| N\—E=—O—52 5.0 3 Ly | EBRE
LT RIAVL—Y B:AFI/FEVT )l EfE

@ J1—JF—@BIRNI

13—F— |7.10.11,5,(2,3),1,6,9.8,4
23—3— [7.10,3,5.11,1,2,6.4,9.8

30-—7— |7.3,10,(5,11),1,2,6,8,4,9

41—F— (3.7).5.1,2,10, (4,6) ,8,11,9
@ ILRE
& s 7 10| | 94 & 5-7 260/ | | # & 5-6 390M3 | | &' 3-5-7 3,060/
& B 7 100M 3-7 7403 | | # & 6-5 510 | | 3:&& 7-5-3 6,190/
5 200M 3-5 2,360 | | 55 = 5-7 450H
3 380F3 5 & 7-5 470

ABIC OV TRUTEREERRODDZE. THRIIZEL.



